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Section A

Answer all questions in this section.

Question 1 Challenging times ahead to achieve economic growth

Table 1: Key Economic Indicators in 2015

Indicators UK China Singapore
Nominal GDP growth 2.2 6.9 1.9
(annual %)

Inflation rate 0.05 1.4 -0.5
Exports as a % of GDP 27.6% 21.9% 177.9%
Imports as a % of GDP 29.2% 18.4% 152%
Life Expectancy at birth 81.6 76.0 82.6
(years)

CO2 emissions (metric 7.13 7.55 9.36
tons per capita)*

*based on 2013 data
Source: The World Bank Data

Extract 1: The EU's dwindling importance to UK trade

Historically, the European Union has dominated UK’s trade in both exports and as a source
of imports, but gradually this trend is changing. As the UK marches towards a referendum on
its EU membership, the nation's statisticians have taken a closer look at the bloc's
importance to trade. The Office for National Statistics (ONS) has released a bulletin on UK-
EU trade, where trade figures show that British reliance on trade with the EU has fallen to an
all-time low. The ONS said that exports from the UK to the EU grew on average by 3.6%
from 1999 to 2014, below the 6.5% rise in exports to non-EU countries.

There was also a shift in the countries from which the UK imports its goods and services.
The share of total imports originating from the US, France and Germany declined while the
share of imports accounted for by China rose.

For UK businesses, this change has meant looking beyond traditional markets and opening
up trade with new high-growth areas. The UK has seen its share in the exports of lower
technology goods fall, but has increased its share in global exports of high technology
manufactures such as medical and pharmaceuticals, machinery and vehicles. Services
exports is another growing sector in the UK and the increasing composition of services
output in total UK output is evidence that the UK’s economic structure has moved in line with
its comparative advantage.

Source: Various reports

Extract 2: China pledges policy support to economy, reform in 2016

China will make its monetary policy more flexible and expand its budget deficit in 2016 to
support a slowing economy, state media said on Monday. It cited top leaders who wrapped
up the annual Central Economic Work Conference, a meeting keenly watched by investors
for clues on policy priorities and main economic targets for the year ahead.



The government will take steps to expand aggregate demand next year. The People's Bank
of China has cut interest rates six times since November last year and reduced banks'
reserve requirement ratios (RRR), or the amount of cash that banks must set aside as
reserves. The government has also stepped up spending on infrastructure projects and
eased restrictions on home buying to boost the sluggish property market. Top leaders also
pledged to push forward "supply-side reform" to help generate new growth engines, while
tackling factory overcapacity and property inventories.

Source: Reuters, 21 December 2015
Extract 3: Shedding light on slowing growth: What ails Singapore's economy?

Singapore's small, trade-dependent economy is under the weather. While the country has
not yet sunk into a full-blown recession, its fortunes are tied closely to those of the world
economy and the outlook there is far from cheery. The Sunday Times looks at four key
contributors to slowing growth in Singapore.

1. Lacklustre Global Growth

The world economy has yet to completely shake off the vestiges of the global financial crisis
and continues to lack a strong growth driver. Singapore’s key trading partners have all been
grappling with their own sets of challenges.

2. Protracted Oil Price Slump

World oil prices had been fairly stable from 2010 until mid-2014, at around US$110 a barrel.
But they have almost halved since, plunging the oil and gas industry into a crippling slump.
Companies in Singapore have not been spared the effects of this protracted downturn. More
than two years of tumbling oil prices have wiped over US$24 billion (S$33.5 billion) from the
market value of Keppel, Sembcorp Marine and other listed oil-services companies - or about
two-thirds of their pre-July 2014 capitalisation.

Tens of thousands of jobs have been axed and some companies have defaulted on bond
payments - sparking concerns over banks' exposure to the sector. The drag from this
important sector is predicted to feed through to the rest of the economy.

3. Shifting Trade Flows

International trade has fallen to its lowest level since 2009, alongside lacklustre economic
growth. But some economists say the slowdown is not merely cyclical, and lower levels of
global trade might become the new normal.

This is because growth in developed economies like the United States is increasingly driven
by services rather than the trade in goods. China is also becoming less exposed to
international trade as it shifts away from an industrial-led growth model towards consumption
and services. This means Chinese companies are increasingly sourcing from within the
country, instead of importing. This trend could weigh on regional trade even in the long run -
a gloomy prospect for Singapore, which depends not just on its own exports but which also
does a bustling trade in re-exports.

4. Disruptive Change
Prime Minister Lee Hsien Loong said in his National Day Rally speech in August that
disruptive change is the "defining challenge" facing Singapore's economy.

Technology has transformed almost every industry - from food delivery to manufacturing.
These developments have left both challenges and opportunities in their wake, most
obviously in the labour market. There are thousands of jobs waiting to be filled in growing
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sectors like IT, precision engineering, education and healthcare. But many workers who
have been laid off lack the necessary specialised skills required in these roles.

There is no easy solution to this - the ever-increasing pace of technological change means
that jobs will more or less be in a constant state of flux. There is help available for laid-off
workers - including the option to upgrade their skills with SkillsFuture, or programmes which
help mid-career workers move to industries with the potential to grow. But companies and
workers also have a part to play - both in terms of skills upgrading and shifting mindsets.

Source: adapted from The Straits Times, 30 October 2016

Extract 4: Tax policies can drive innovation, promote inclusive growth: DPM Tharman

Tax policies can be designed to help countries drive innovation and at the same time
promote inclusive growth, said Deputy Prime Minister Tharman Shanmugaratnam. DPM
Tharman also said that growing the incomes of low-wage workers should be a key priority
when countries come up with tax and fiscal policies to promote inclusive economic growth.

DPM Tharman noted that Workfare, a form of negative income tax for lower-paid workers to
encourage them to be part of the workforce, has worked for Singapore. Tax credits for
employers and subsidies for skills upgrading for both employees and the unemployed, chief
among them SkillsFuture, are another workable solution, as is giving special support for
innovation and productivity among small and medium-sized enterprises.

DPM Tharman also said that part of a country's fiscal policies should include giving fair
subsidies for public service, targeted at those who need it the most. He pointed out that in
many countries, most of the subsidies do not go to the poor. This happens when
governments subsidise healthcare for everyone, rather than based on needs. To support
spending, taxes will rise, which will harm growth.

Source: adapted from Channel News Asia, 24 Jul 2016



Questions

(@) Using data from Table 1,

(i) Compare the balance of trade position of UK, China and Singapore. [2]

(ii) Assess the usefulness of the given key economic indicators in comparing
living standards between countries. [4]

(b) (i) With reference to Extract 1, identify the changes in UK’s patterns of trade.  [2]

(ii) Using your own knowledge, explain how the theory of comparative
advantage can explain the change(s) identified in (b)(i). [4]

(c) (i) With reference to Extract 3, discuss whether ’shifting trade flows’ is the
most significant challenge facing the Singapore government in achieving
inclusive economic growth. [8]

(ii) Discuss the policy options that the China and Singapore government
have put in place to achieve sustained and inclusive growth respectively.  [10]

[Total: 30]

Copyright Acknowledgements:

Question 1 Extract 1 ©Telegraph, 26 June 2015, www.theweek.co.uk — Biggest trends in UK trade,
accessed 25 July 2017, Economic & Labour Market Review Vol 4 No 1

January 2010



Question 2
World Aluminium Market

Table 2: Aluminium production in China

The table below shows an index of aluminium production levels over 2010-2015.

Year 2010 2011 2012 2013 2014 2015

Index 100 124 146 165 176 195

Source: The International Aluminium Institute
Extract 5: Consumption and Production of aluminium

The rapid increase in the production of aluminium was brought about by the improvement of
production methods, and by the expansion of the scope of application of aluminium. The
world's largest aluminium producers are, as a rule, vertically integrated holding companies
comprising bauxite mines and aluminium refineries. The advantage of the vertical integration
model for large companies is their independence from price fluctuations of factors of
production as they can ensure the supply of raw materials in required volumes is secured for
uninterrupted aluminium production. This leads to more flexibility in the production process
and allows firms to be more responsive to changes in demand.

Demand for aluminium from carmakers is also expected to grow in 2015 as car sales
combined with the aluminium content in cars rising significantly. Automakers consumed a
record amount of aluminium last year as plummeting prices and technological breakthroughs
made it a viable alternative to steel.

Source: adapted from www.aluminiumleader.com, accessed 28 July 2017

Extract 6: China’s aluminium exports flood market

China’s surging exports of aluminium are becoming a contentious issue as prices of the
metal continue to hover just above their six-year low. China’s aluminium exports are up 14.4%
so far this year, as companies there take advantage of China’s large labour force and lower
wage cost than international rivals to seize market share. While major aluminium companies
like US-based Alcoa have cut production this year, Chinese output has risen by 18% year to
date, according to the International Aluminium Institute, a supply flood that has helped keep
prices depressed.

Protests against China’s aluminium export rise have been growing louder, with producers
from the US to India demanding measures to protect employees in their domestic industries.
“Due to arise in imports from China, profits for domestic Indian producers are getting choked.
The Chinese government has provided tremendous subsidies to aluminium production and
India’s import tariff on aluminium should be increased to 10 per cent on primary aluminium
and aluminium scrap,” said Abhijit Pati, chief executive officer of Vedanta Group’s aluminium
business.

China’s Non-Ferrous Metals Industry Association has hit back at suggestions that
companies there are dumping aluminium on international markets although analysts say that
Chinese smelters can withstand low international prices in part because of the government
support they receive. Chinese producers often benefit from “opaque” tax rebates, or cheap
loans made to them by local governments.

Source: adapted from The Wall Street Journal, November 12, 2015



Extract 7: Aluminium import tariffs in India

The aluminium lobby in India has been pressing for an increase in import tariffs for
aluminium in the face of low-priced aluminium from foreign countries making its way into the
Indian market. According to industry data, total aluminium imports in India had grown by
over 159% between 2015 and 2011, mainly from China and Middle-Eastern countries. This
has led to imports accounting for 56% of the Indian aluminium consumption in 2014-15,
while products of Indian producers accounted for only 44%.

Some local aluminium producers, unable to keep up, have even slipped into losses.
Vedanta Resources, in August, initiated the process to shut down its 1 million metric ton per
year alumina refinery in Odisha. Interestingly, while the Indian government has taken the
step to hike tariffs to protect local industry, some experts have argued against the move.

The government’s own report indicated that raising tariffs to quell imports of cheap
aluminium would do harm to downstream producers such as carmakers and construction
companies.

Source: adapted from www.agMetalMiner.com, accessed 28 July 2017

Extract 8: China’s production of aluminium is poisoning Southeast Asia

Soaring Chinese demand for natural resources to produce aluminium is wreaking
environmental havoc throughout Southeast Asia. Both Vietham and Malaysia are major
producers of bauxite, the ore required to create aluminium.

Vietnam is home to the world’s third largest natural deposit of bauxite, with 5.5 billion tons
of crude ore reserves. However, the mining of these reserves has resulted in serious
environmental issues. For instance, there has been reports of breakages and spills in waste
management facilities, deforestation and river pollution.

Source: adapted from Asian Correspondent



Questions

a)

b)

i)

i)

Describe the trend in China’s aluminium production levels between 2010
and 2015 shown in Table 2.

With reference to Extract 5, explain a possible reason for this trend.

Explain whether data from the extracts support the claim that ‘Chinese

[1]
[2]

companies are dumping aluminium on international markets’ (Extract 6). [4]
Assess the likely impacts of an increase in tax rebates given to Chinese
aluminium producers on consumers, employees and producers in other
countries like India. [10]
With the use of a relevant diagram, explain the impact of an import tariff
on the level of domestic aluminium production in India. [3]
Explain how price elasticity of supply for domestic aluminium production
affects the extent of impact of the import tariff. (2]
Vietnam and India face different issues due to the increase in Chinese
aluminium production.
Discuss whether increasing import tariffs on aluminium in India will
address the issues faced by Vietnam and India respectively. [8]
[Total: 30]

End of Paper
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Answer three questions in total.

Section A

One or two of your three chosen questions must be from this section.

Brick and mortar retailers of various goods and services, ranging from groceries to luxury hand
bags, have seen a fall in sales revenue in Singapore. One possible reason is a fall in the cost of
setting up online shopping businesses.

Discuss possible demand and supply reasons that could account for the fall in sales revenue of
different brick and mortar retailers in Singapore. [25]

A government intends to achieve efficient and equitable allocation of resources.

Discuss the view that rational decision making by consumers, producers and government always
result in these intended consequences. [25]

Apple has introduced new and innovative products to continue grabbing the attention of the
customers. In addition, they have streamlined their manufacturing process.

(@) Explain how innovation allows a firm to increase profits. [10]

(b) Discuss the extent to which a firm’s decision to innovate is dependent on the contestability
of the market. [15]



Section B

One or two of your three chosen questions must be from this section.

(@) Explain possible domestic and external causes of deflation in a country. [10]

(b) Discuss the extent to which deflation affects the balance of payments position in an
economy. [15]

In implementing policies to achieve its macroeconomic objectives, a government may face certain
conflicts. Assess the effectiveness of alternative policies implemented by the Singapore
government to achieve all its macroeconomic objectives. [25]

(@) Explain how countries can mutually benefit from free trade, including those countries that
are the most efficient at producing all products. [10]

(b) Discuss the view that globalisation is often but not always desirable. [15]

End of Paper






2017 H2 Economics Preliminary Exams Paper 1 - Suggested Answers

CSQ Question 1

(a) | Using data from Table 1,

(i) | Compare the balance of trade position of UK, China and Singapore. [2]

China and Singapore’s balance of trade were in surplus while UK’s balance of trade was in deficit.
[1m]

Balance of trade surplus (as a % of GDP) for Singapore was larger than for China. [1m]

(ii) | Assess the usefulness of the given key economic indicators in comparing living standards | [4]
between countries.

SOL includes both the quantitative (material) and qualitative (non-material) aspects.

e Explain how real GDP indicates material SOL and how it can compare living standards between
countries [1m]

GDP measures the total monetary value of all final goods and services produced within the
geographical boundary of a country, usually in a year. By comparing countries’ GDP growth rate,
we can see which economy is growing, stagnating or declining. When this indicator is further
adjusted for inflation to give real GDP growth, it can be used to analyse differences in material
SOL between countries as a higher real GDP growth rate would mean that the purchasing power
of an individual from that country is higher. Real GDP growth rate in China was the highest at
5.5%, while Singapore and UK registered relatively slower growth rates at 2.4% and 2.15%
respectively. Hence one may infer that the purchasing power of residents in China was the
highest.

e Explain how life expectancy data/CO2 emissions data can be used to compare non-material SOL
[1m]

Life expectancy at birth refers to the average number of years that a newborn may expect to live for.
It can be used as a proxy for the quality and accessibility of healthcare in a country. A higher life
expectancy in countries such as the UK and Singapore, with life expectancy of more than 80 years,
suggests that individuals in these countries have more timely and high quality healthcare, as
compared to China at 76. Hence, statistics on life expectancy at birth can be used to compare non-
material standard of living between countries.

OR

Data on CO2 emissions showed that China has lower emissions compared to Singapore. However,
the data is measured in terms of per capita, and China’s population size is so many times larger than
Singapore’s. Thus the data may not accurately reflect air quality and thus non-material SOL between
the countries.

e Explain limitations in real GDP data /non-mat SOL data/ Evaluative statement[2m]
- no data on population size
- not adjusted for differences in cost of living
o therefore should use PPP adjusted real GDP per capita to compare
material SOL between countries

However, there are several limitations in using real GDP data to compare SOL between countries.
This is because of differences in population size and cost of living between countries. While China
registered the highest real GDP growth rate, China also has the largest population amongst the 3
countries, many times larger in fact. Thus real GDP growth rate does not allow comparison of material
SOL for the average person between countries.

Furthermore, even if data on population size is available, real GDP figures do not correct for
differences in cost of living. For example, the amount of US$ needed to buy the same basket of goods
and services in Singapore is probably a lot more than that required in China because the cost of living
in China is very much lower than Singapore’s. Thus, even if Singapore has a higher real GDP per
capita than China, it does not necessarily mean that Singapore residents would have a higher material
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standard of living as the cost of living may be a lot higher. Hence, there is a need to use PPP-adjusted
GDP figures as it reflects the relative costs of goods and services in various countries.

Evaluation/Conclusion
Overall, the key economic indicators in Table 1 are not useful in comparing living standards between
countries because of insufficient data presented.

(b)

(i)

With reference to Extract 1, identify the changes in UK’s patterns of trade.

UK’s major trade partners have changed from traditional EU countries to increasingly more from non
EU countries such as China. [1m]

There is also a change in the types of goods that UK exports. Exports of lower technology goods
have fallen while exports of pharmaceuticals, machinery and services are growing. [1m]

[2]

(ii)

Using your own knowledge, explain how the theory of comparative advantage can explain the
change(s) identified in (b)(i).

An economy is said to have a comparative advantage over another in the production of a good if it
incurs a lower opportunity cost in producing the good or service.

The theory of CA can explain why UK’s exports of pharmaceuticals and services are increasing as
the comparative advantage that a country enjoys can change over time. This could be due to changes
in factor endowment, efforts to improve production techniques or deliberate government policies to
create new areas of comparative advantage.

The UK government could have invested heavily in the development of the pharmaceuticals and
services sectors to help their domestic industries acquire a new comparative advantage. This could
be done by encouraging upgrading of skills and conduct of research and development in these
sectors. As the skills of the labour changes, the opportunity cost of continuing to produce lower
technology goods start to increase while the opportunity cost of producing “high technology
manufactures” falls. This has contributed to a gain in comparative cost advantage in the production
of high end manufactured goods such as pharmaceutical products and explains for the rise of such
goods amongst UK’s exports.

However, while the theory of CA can explain the change in the type of goods that UK exports, it may
not explain the change in who the UK trades with. The change in UK’s major trading partners is more
likely due to the different economic growth performance and growth model experienced by the UK
and its traditional as well as new trading partners.

[4]

(c)

(i)

With reference to Extract 3, discuss whether the “shifting trade flows” is the most significant
challenge facing the Singapore government in achieving inclusive economic growth.

o Define inclusive economic growth actual growth, potential growth, income equity, creates
productive employment opportunities for the majority of the country’s population, income
distribution

Shifting trade flow may be a significant challenge in achieving inclusive economic growth

e  Shifting trade flows (China moving to own sources of FOPs)> Loss of CA in re-export industries
- widen income gap between those in sunrise (service industry) and sunset (changes in
demand of different groups of workers and thus wages)

e  “shifting trade flows” reduce net exports and AD and reduce actual growth

P2:(Other factors may be more significant challenges in achieving inclusive economic growth)

e Explain how “disruptive change” cause structural unemployment - technology changes and with
no upgrading skills > demand for lower skilled workers fall while demand for higher skilled
workers increase > widen income gap - challenge in achieving inclusive economic growth

(8]
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e Explain how “lacklustre global growth” - fall in income of trading partners reduce net exports
and AD and reduce actual growth

e Explain how “protracted Oil Price Slump” - fall in income of oil producing industries - fall in
incomes of workers in these industries > Cl - Fall in AD

Evaluation

take a stand on whether ‘shifting trade flows’ is the most significant challenge in achieving inclusive
economic growth

e While the other reasons could also cause UnN, disruptive change widens the income gap not
only between those who are employed and unemployed, but also between those with skills that
are in demand and those without - therefore more difficult to achieve inclusive economic growth

Knowledge, Application, Understanding, Analysis
L2 Balanced and well developed answer on challenges to 4-6
achieving inclusive growth in Singapore. . Limited
reference to extract evidence

L1 Brief explanation on challenges to achieving inclusive 1-3
growth Singapore. Many conceptual errors

E2 Evaluation based on economic analysis 2
E1 Mere statement without economic analysis 1

(i)

Discuss the policy options that the China and Singapore government have put in place to
achieve sustained and inclusive growth respectively.

e  Sustained growth: actual growth, potential growth
e Inclusive growth: actual growth, potential growth, income equity, creates productive employment
opportunities for the majority of the country’s population, income distribution

China

Policies: Expansionary MP + Expansionary FP/SSP

Perspective 1

H (Expansionary MP):

- “cutinterest rates six time” - Fall in cost of borrowing = C and | increase - AD increase >
actual growth

- Increase in | = increase in gty of capital goods = increase in productive capacity > potential
growth

H(Expansionary FP/SSP):
- Increase G and reduce T (Extract 3: “Expanding the budget deficit”) - increase in AD - actual
growth

- Increase G on infrastructural projects - increase quality of FOP - increase in productive
capacity > potential growth

Actual + Potential Growth = sustained growth
A(Expansionary MP):

- Large domestic market (Extract 3: “Chinese companies are increasingly sourcing from within the
country) - increase in C and | will significantly affect AD

Perspective 2

L(Expansionary MP):
- l/r has already been cut six times = may be unable to cut further (liquidity trap)

L (Expansionary FP/SSP):
- May run into budget debt = increase in T in the LR (Extract 4) = reduce C and | - reduce AD

[10]
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Evaluation

Short Run: MP and FP are key as there is spare capacity in the Chinese economy (“factory
overcapacity and property inventories”). Focus should be on boosting AD rather than LRAS

Long Run: Once China has transitioned to be a domestic driven economy and nearing Yf > need to
focus on improving LRAS to prevent overheating

Singapore
Policies: Supply side policy (Skills future, workfare, tax policies)

Perspective 1
H (Skillsfuture):

- subsidies for skills upgrading for workers > improves productivity - lowers COP —increases
SRAS - actual growth

- Increase productivity = Increase productive capacity - increase LRAS - potential growth

- Able to produce higher quality products = Increase demand for X = AD increases - actual
growth

- Improving the skills of workers - reduce impact of disruptive change (Extract 3) on lower skilled
workers - helps mitigate the impact of structural UnN - improves equity

H (Tax Policy):
- Providing subsides for public services (healthcare) to lower income - enables essential services
to be made available and affordable to low income households = improves equity

H (Workfare):
- Income tax credits = increases disposable income for low income households - mitigates
income gap - improves equity

Actual growth + potential growth + improved equity = Inclusive growth

A(Skillsfuture)::

- Improving quality of exports can also make our exports less substitutable - less susceptible to
shifting trade flows and global income changes (extract 3) - fall in AD will be smaller > smaller
negative impacts of growth in the long run

Perspective 2

L(Skillsfuture)::

- Difficult to change mindset

- No guarantee that training will translate to increased productivity

- The success of the policy depends on how quickly workers can change their mindsets and strive
to learn new skKills.

L(Workfare and Subsidies):
- Need to increase T in the LR - reduce AD - Link to growth

Evaluation

Productivity growth in the past few years have still been low, thus signalling that the past
programmes to improve productivity does not have its desired impacts yet.

Mark scheme
L2 Good explanation on the policies adopted by China and 5-7
Singapore to achieve sustained and inclusive growth
respectively.

L1 Brief explanation on the policies adopted by China and 1-4
Singapore to achieve sustained and inclusive growth
respectively. May contain conceptual errors
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Answers that only cover either Singapore / China will be
capped at 4m
Evaluation
E2 Evaluation based on economic analysis (Which policy is 2-3
better)
E1 Mere statement without economic analysis 1
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CSQ Question 2

(a)

(i) Describe the trend in China’s aluminium production levels between 2010 and 2015 shown in
Table 2.

M1

China’s aluminium production levels have increased between 2010 and 2015.

Marker's comments

Some students stated that the production levels for China increased from 100 to 195. That is incorrect. 100 and
195 are index numbers and do not reflect actual production levels. All students can tell is that production levels
have increased by 95% between 2010 and 2015 but the absolute levels of aluminium produced cannot be
determined.

(i) With reference to Extract 5, explain a possible reason for the trend in China’s aluminium
production levels between 2010 and 2015 shown in Table 1.

[2]

Demand Reason + Evidence

Increased demand for cars and the aluminium content in cars. Demand for aluminium is derived from the demand
for cars. As the demand for cars increases, carmarkers will require more aluminium to produce cars and this
leads to an increase in demand for aluminium and hence, an increase in production levels.

OR

Supply Reason + Evidence

Improvement of production methods. With the improvement of production methods and higher levels of
productivity, this will lead to a lower cost of production and an increase in profitability for firms to produce
aluminium. Hence, this results in an increase in willingness and ability to produce aluminium and this is
represented by an increase in supply. Hence, this leads to an increase in production levels.

(b)

(i) Explain whether data from the extracts support the claim that “Chinese companies are dumping
aluminium on international markets” (Extract 6).

[4]

Dumping is the practice of selling exports at prices below its marginal cost of production.

To decide if “Chinese companies are indeed dumping aluminium on international markets” (Extract 6), it is
necessary to find out if the low prices of aluminium sold in foreign markets are a result of deliberate government
support or true comparative advantage.

Perspective 1: data from the extracts support the claim

Extract 6 mentions that the Chinese government has provided tremendous subsidies, “opaque” tax rebates and
cheap loans to the companies. These allow them to price their aluminium at artificially low prices, possibly at
levels even below their original marginal costs of production. Hence, the data supports the claim that
Chinese companies are dumping aluminium on international markets.

Perspective 2: data from the extracts does not support the claim

However, Extract 6 also mentions that Chinese companies have the advantage of low-cost labour over their
international rivals. This suggests that Chinese companies do have a comparative advantage in producing
aluminium and the low prices are due to lower input costs (such as wage) due to the abundance of resources
(such as workers) in China. As such, these companies are not dumping aluminium.

(i) Assess the likely impacts of an increase in tax rebates on Chinese exported aluminium products
on consumers, employees and producers in other countries like India.

[10]

With an increase in tax rebates, this will lead an increase in production levels by Chinese firms and an increase
in the quantity of exported aluminium products to India due to the fall in costs of production for Chinese aluminium
firms.

Positive impacts Negative impacts
Impact on | Chinese firms can export a greater | Inthelong run, if the relatively lower prices
consumers amount of aluminium to India and Indian | imposed by Chinese firms lead to Indian
(price, quantity, | car manufacturers will be able to enjoy | aluminium producers shutting down, these
variety, lower costs of production which may be | Chinese firms may no longer have the
consumer passed on to consumers in terms of lower | incentive to charge lower prices.
surplus) prices.
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Alternative
perspective:
Producers
cars
consumers
aluminium
(profits)

of
as
of

In the short run, consumers of goods that
depend on aluminium as a factor of
production (such as car manufacturers)
will be able to enjoy lower prices.

Producers of cars that depend on
aluminium will now face a higher cost of
production which may then be passed on
to consumer in terms of higher prices.

Impact
producers
(profits
TR<TC)

on

or

If Chinese firms are dumping aluminium
into the Indian market, this allows car
producers to enjoy a lower cost of
production. Ceteris paribus, this will lead
to a higher level of profits for the car
producers.

With a fall in demand of Indian aluminium
due to how price of its substitute, Chinese
aluminium is cheaper, Indian producers
face a fall in equilibrium price and quantity
and thus total revenue. Ceteris paribus,
profits fall.

In the long run, if the fall in revenue
persists, producers of cars that depend on
aluminium as a factor of production will
now face a higher cost of production if
Chinese firms start to raise prices.
Suppose that the demand for cars is price
elastic since there are usually public
transport substitutes, then the rise in price
may lead to a more than proportionate
decrease in quantity demanded for cars
and revenue earned by producers fall.

Impact
employees
(wages,
employment,
SOL)

on

With the increase in production of cars,
producers employ more factors of
production including labour, leading to a
fall in dd-deficient unemployment. Also
when DD for labour increases, there
would be an increase in the wage rate in
the labour market, ceteris paribus.

In the long run, income earned by
employees in both the aluminium industry
and related markets may start to fall. Also,
there will be a higher incidence of
unemployment in this sector.

Evaluation:

Impact on the different economic agents in India would largely depend on whether India is heavily dependent
on imported aluminium from China. Since China is one of the world’s largest producers of aluminium, it is likely
that the impacts will be significant. However, the likelihood for the impacts to be negative would depend on the

success of the Indian government in mitigating the level of imported aluminium from China.

Mark Scheme

L2

Balanced and well developed answer on how each economic agent may
be affected by the increase in tax rebates in China.

5-7

L1

Brief and under-developed explanation on how the economic agents
may be affected by the increase in tax rebates in China. Impact on one
or more economic agents may not have been analysed by the student.

Evaluation based on economic analysis. Students should make a
comment about how each economic agent may be affected on balance,

based on the analysis provided.

1-3

(c)

(i)

With the use of a relevant diagram, explain the impact of an import tariff on the level of domestic

aluminium production in India.

[31
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Price of  Alumioum

Domestis Supply
N /
\ /
o .-__.-'"'
4
R /— : :'."‘C" <o~ World Supphy (W)
Py = _,..-f B ; _‘..“ World Supply [Ws)
: * Domestic Demand
: : CQuantiyod aluminum
0 Qs el

The import tariff raises the world price of aluminium from $6 to $8 and this is represented by the upward shift
of the world supply curve from Ws to Ws:.

With this increase in price, domestic aluminium producers in India will be incentivized to increase production
according to the law of supply and quantity supplied increases from Qs' to Qs2.

(i) Explain how price elasticity of supply for domestic aluminium production affects the extent of
impact of the import tariff.

[2]

Price elasticity of supply (PES) of aluminium refers to the degree of responsiveness of quantity supplied of
aluminium to a given change in price of aluminium, ceteris paribus.

If the value of PES is more than 1, it is likely that the rise in the price of aluminum due to the import tariff will
lead to a more than proportionate increase in quantity supplied by domestic producers, ceteris paribus.

OR

If the value of PES is less than 1, it is likely that the rise in the price of aluminum due to the import tariff will lead
to a less than proportionate increase in quantity supplied of aluminium, ceteris paribus.

(iii) Vietnam and India face different issues due to the increase in production levels of aluminium.

Discuss whether imposing import tariffs on aluminium in India will address these issues faced
by both countries.

(8]

Yes No
Reduce Since PES>1 for  aluminium | Import tariffs may lead to higher
unemployment  in | production due to the increase in | unemployment in other sectors of the
India flexibility in the production process | economy due to higher costs of

(Extract 1), the higher prices due to | aluminium (as a factor of production).
the import tariff will lead to a more than
proportionate increase in quantity | Import tariffs may lead to retaliation and
supplied of domestic aluminium | feedback effect on the Indian economy,
production. thus worsening unemployment.

As Indian aluminium producers
increase their production levels, this
will lead to an increase in the derived
demand for labour. Thus, the import
tariffs will lead to a lower level of
demand deficient unemployment in
India.

Address/Reduce Due to the imposition of import tariffs, | Imposition of import tariffs may not
negative externality | this will lead to a reduction in the | necessarily lead to a large fall in
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due to the
production of
bauxite, which is a
factor of production
for aluminium

quantity of aluminium imports as
imported aluminium become less
price competitive. Ceteris paribus,
there will be a fall in the derived
demand for bauxite.

As production of bauxite falls, this
leads to a lower level of negative
externalities produced.

aluminium production in China. China
may also be exporting aluminium to
larger markets such as the USA.
Hence, derived demand for bauxite
may not fall significantly.

Producers are not forced to internalise
the external cost to the environment.
Deadweight loss is still created due to
the production of bauxite.

Evaluation:

It is more likely that the imposition of the import tariff will address unemployment in India than the negative
externalities in Vietnam as externalities will only be eliminated if production is reduced to zero (which is unlikely).
Furthermore, even if import tariffs may be effective in addressing unemployment in India, this may only be the
case in the short run. In the long run, these import tariffs may be perceived to be protectionist and may invite

retaliation from other countries, thus worsening unemployment in India.

Mark Scheme

L2 Balanced and well developed answer on how the issues in both India 4-6
and Vietnam may be addressed.

L1 Brief and under-developed explanation on how the issues in both India 1-3
and Vietnam may be addressed. Issues are not identified correctly.

E Evaluative comments are provided on how the issues of negative 1-2
externalities in Vietnam and unemployment in India may be addressed
by the import tariffs in India.
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Question 1

Essay Plan

Start Point: DD Factors

/

\ N,

1P of subs (online tiinY Other DD
shopping)/ determinants
1 P of comp x
Apply Apply YED
XED
XED >0 XED <0 YED>0 YED< O
(sub) (comp) (normal) (inferior)
if Y| if Y1
Fall in DD

(Cannot be increase in demand)

Start Point: Supply factors

/

N

/1in Other SS
COP determinants
Increase in Fall in SS
SS
Apply PED < 1 Apply PED > 1

\

\

]

** Important**:

1. Diagrams to illustrate

2. Examples and Retailers
applicable to SG
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|P leads to less
than

proportionate 1 in
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1P leads to more
than

proportionate |in
gty dd
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Fall in Sales Revenue (TR)




Demand Reasons (For fall in TR: Demand must fall)

1. Fall in cost of setting up online business (government subsidies : Spring Singapore’s
Capability Development Grant, Increasing prevalence of cheap/free online platforms such
as Carousell/Qoo10/Lazada) - COP falls = SS increase - Fall in P of goods sold online
(groceries, clothing)

Application of elasticity concept:

Substitutes (XED>0) - Fall in P of goods sold online - Consumers switch to purchasing
online - DD for goods and services sold in physical stores (groceries, clothing) - Fall
in sales revenue of brick and mortar retailers

2. Economic slowdown in countries such as EU countries> fall in income due to
recession> fall in purchasing power -> less demand for imports (tourist
attractions/shopping in Singapore etc)

Application of elasticity concept:
YED>0/ or YED > 1: fall in demand for normal goods (such as luxury handbags) - fall in
total revenue of brick and mortar retailers selling such goods

Note: Possible to argue for economic growth in Singapore (increase in income) and link
to fall in demand for inferior goods (YED < 0)

3. Increasing availability of overseas substitutes (Amazon, Taobao, Rakuten, Entry of
Amazon prime in the domestic market) - affects tastes and preferences of consumers
- Consumers switch from local brick and mortar retailers (of less perishable goods such
as electronics and health supplement) to overseas retailers > Fall in DD-> Fall in sales
revenue

4. Technological changes - changes in tastes and preferences - Consumers prefer to
shop online due to the greater convenience (Apps, fall in data cost) - Switch to
purchasing from online - Fall in DD-> Fall in sales revenue

lllustrate with Diagram (to relate to the points above):

Price 4 So

Fall in DD - Fall in sales revenue
from OPoAQo 1o OP1BQ1

Py

Py

Do

» Quantity of
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Supply Reasons: (For fall in TR: can be increase or fall in supply)

1. Fall in COP of setting up online business - brick and mortar retailers switches to
online businesses (smaller bakeries moving to pure online presence/ printing companies)
- fall in size of industry - fall in SS of brick and mortar bakeries = Increase in P

Application of elasticity concept:

PED > 1 (availability of close online substitutes) - consumers can easily switch to
purchasing from online bakeries - more than proportionate fall in Qd - Fall in sales
revenue

2. Increase in rent (Reits driving up rent of commercial shop space) - increase in COP
of goods such as luxury handbags - Fall in profits = Fall in SS - P increase

Application of elasticity concept:
PED > 1 - ... & more than proportionate fall in Qd - Fall in sales revenue

3. Increase in wages due to tightening of foreign workers’ quota (govt tightening to
encourage firms to switch to labour replacement technology)-> Fall in supply of labour >
increase in wages - increase in COP - Fall in profits > Fall in SS - P increase

Application of elasticity concept:
PED > 1 - ... & more than proportionate fall in Qd - Fall in sales revenue

4. (Related to previous point) Labour replacement technology may not have
matured—>increase in productivity < increase in costs of using these technology —->
increase in COP - ....

Application of elasticity concept:
PED > 1 (substitutes/large proportion of income) > ...... - Fall in sales revenue

lllustrate with Diagram (relate to the points above):

Price

S1 So

Fall in SS (From SSoto SS1)—> Fall in

El ;R sales revenue from OPoAQo (o
’ i i OP:BQ:

o DpPED>1

]

' |

' |

' [

l [

i i Quantity of
(0] Q1 Qo

5. For retailers who managed to implement technology to reduce COP (supermarkets
using automation (self checkout counters) to reduce labour cost) = increase in SS - Fall
in P

Application of elasticity concept
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lllustra

Price

PED < 1 (groceries are necessities with few substitutes) - less than proportionate
increase in Qd - Fall in sales revenue

EV: Supermarkets selling necessities have also faced competition from online retailers
(Redmart, Honestbee, Amazon prime) - Increase number of substitutes 2 PED may
be > 1 2 Fall in P might lead to increase in sale revenue instead

te with Diagram (relate to the points above):

Increase in SS (From SSoto SS1)—>
Fall in sales revenue from OPoAQo 1o
OP1BQ;

Quantity of

»
»

Final Evaluation (Possible points)

Difficult to distinguish between brick and mortar vs online retailers. Many traditional
brick and mortar have also moved onto the online retail space (NTUC, Qoo10, Carousell,
Lazada). Thus the relationship between them may not only be in terms of competitive
demand, but may be in terms of joint/competitive supply. These new relationships could
also explain why sales revenue may have fallen

Most important reason depends on the exact market. For certain goods (food &
beverage, healthcare), online substitutes are less common/non-existent, thus unlikely to
be affected by growth of online shopping. For food and beverage (especially restaurants
in tourist areas), fall in sales revenue most likely to be fall in tourist arrivals (fall in DD) or
proliferation of new entrants (increase in supply)

Short run vs Long run: Depends on whether preference for online shopping is enduring.
(For example, a part of the population (esp the elderly) still prefers to physically handle
the good before purchase)

Knowledge, Application, Understanding and Analysis

L3

For a well-developed answer that explains how changes in 15-20
demand and supply (with the use of at least 2 elasticity
concepts) can result in a fall in sales revenue for different
retailers (at least a combination of 4 DD and SS factors).
Use of DD/SS diagrams to illustrate fall in sales revenue.
Good use of examples relevant to Singapore’s context

L2

For an underdeveloped answer that explains how changes 9-14
in demand and supply (with the use of elasticity concepts)
can result in a fall in sales revenue for different retailers (at
least a combination of 3 DD and SS factors). Use of DD/SS
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diagrams to illustrate fall in sales revenue. Limited use of
examples relevant to Singapore’s context
No diagrams : Max 13m

L1 For a poor and inaccurate explanation of demand and 1-8
supply factors that could lead to a fall in sales revenue.
Many conceptual errors

Evaluation

E3 For an answer that arrives at an analytically well-reasoned 4-5
judgement

E2 For an answer that makes some attempt at evaluation, but 2-3
lacks economic rigour
For example: answer may identify the most important
without sufficient elaboration

E1 For an unsupported statement that attempts to address the 1
question.

Anderson Junior College Economics Department
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Question 2

Suggested answer

Introduction

1.

Rational decision making uses the marginalist approach to weigh benefits and costs.

2. Marginal benefits of an economic activity are:
o marginal utility (consumer)
e marginal revenue (producer)
e marginal social benefit (government).
3. Marginal costs of an economic activity are:
e cost of purchasing one more unit of the good (consumer)
e marginal cost of production (producer)
e marginal social cost (government)
4. Economic agents do this to achieve their own objectives which are:
e maximisation of utility (consumer)
e maximisation of profits (producer)
e maximisation of social welfare (government)
5. These decisions made may or may not lead to intended consequences of efficient and

equitable allocation of resources which are:

e Efficient allocation of resources refers to the allocation of resources to produce the
combination of goods and services most wanted by society (i.e. allocative efficiency)
Equity refers to fairness in the distribution of economic welfare usually in terms of equal
access to essential goods and services, such as education and healthcare services.

P1: Rational decision making by
consumers & producers leads to efficient
and equitable allocation of resources

P2: Rational decision making by consumers
& producers does not lead to efficient and
equitable allocation of resources

Para 1

Rational decision making by both

consumers and producers leads to efficient

allocation of resources

Need to bring in assumptions of a perfectly

competitive market.

= [Start-point] Being rational agents, the

maximum price consumers are willing
to pay is equal to the marginal utility
that they derive from consuming an
additional unit of the good > the higher
the MU, the higher the price they are
willing to pay > this signals to
producers to produce more

[Start-point] Being rational agents,
producers would produce a good or
service as long as the MR they gain
exceeds the MC incurred - the higher
the price signals, the higher the MR -
producers increase production

Para 2

However, rational decision making by
consumers can also lead to inefficient
allocation of resources

= Context: car driving

= Private benefits are faster travelling time,
greater conveniences etc. Private costs
are cost of owning and using the car,
interest for car loans etc.

[Start-point] Being rational agents,
consumers would maximise their utility
where MPB = MPC at Qp.

But, Qp is not optimal because there are
external costs imposed on third parties
which the consumer does not take into
account of.

External costs are noise and air pollution
to those living near the major

Anderson Junior College Economics Department
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> Quantity

Tha equilibriom markat prica (P and
quarntity (%) are determinsd by the
interactinn of demand and suppoly
forces. At equilibrium, the quantity
demanded exactly equals the quantity
supplied. Consumer surplus (APE) and
producer surplus (BPE) are also at the
maximum.

Should there be an increase in demand,
there will be an increase in equilibrium
price which helps to shift more
resources over and increase production

[End-point] Allocative efficiency results

expressways and roads, traffic
congsstion affecting those taking puklic

buses
CoslfBenelit
- LR
x“"x ___,.-" 3
. T
H‘x ,f'; [M M
m‘xﬁ.-";_,.-';: .___.-"'.
._.-"'f k'"':: A "-\.'.__.-"--
rd A
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s N
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- i "
- ' ™, PME = SME
i
: = [antfy of car
o, dp usage

= SMC > SMB at Qp - society values an
extra unit of car usage less than what it
costs to do do so

= To maximise welfare for society,
consumption should occur where SMC =
SMB at Qs.

= Rational decision-making by consumers
has led to over-driving by the amount
Qp-Qs. This leads to a deadweight loss
to society’s welfare which is represented
by the shaded area.

= [End-point] Allocative inefficiency
results

Para 3

However, rational decision making by
producers can also lead to inefficient
allocation of resources

= Context: Monopoly or oligopoly firm

= [Start-point] Being rational agents, the
firm would produce Q; where MC = MR
so as to maximise profits and set prices
at P4.

= But at Q4, P1> MC - the society values
additional units of the monopolist’s
product more than what it costs society
to produce the additional unit of the good
- the socially optimal level would be
according to the output that would have
been produced under the perfectly
competitive market (Q2). Since Q1 < Qy,
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there is now underproduction of the good
and hence an under-allocation of
resources towards the production of this
good. Society suffers from a deadweight
loss, represented by the shaded area.
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= [End-point] Allocative inefficiency
results

Moreover, rational decision making by
producers can also lead to inequitable
allocation of resources

= The large supernormal profits that a
monopoly firm earns may worsen
existing income inequity as these are
made at the expense of consumers, who
are paying higher prices.

= Furthermore, if the monopoly firm
practices price discrimination, even more
consumer surplus would be captured
away with the entire consumer surplus
captured under first degree price
discrimination.

= The high profits enjoyed by owners and
shareholders of the monopoly firm are at
the expense of the consumers

= [End-point] Seen as unfair and
inequitable by society

Anderson Junior College Economics Department
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Para 4

However, rational decision making by both
consumers and producers leads to
inefficient allocation of resources

=

=N

Context: Public good (street lighting)

Public goods are non-rivalrous and non-
excludable.

Non-excludability refers to the situation in
which consumption or use of a good or
service cannot be limited to the
consumers who have paid for it.

[Start-point] Being rational agents, the
consumers will find it in their interest to
conceal their demand and free-ride on
others who are willing to pay for the
lights > eventually, everyone wants to
be a free-rider 2 no effective demand

Non-rivalry refers to the situation in
which consumption or use of a good or
service by one consumer does not
exclude another consumer from
consuming or using it > MC of providing
street lighting to additional consumers is
zero > P = MC (= 0) for an allocatively
efficient outcome - .. the producers
should not charge a price

[Start-point] Being rational agents, the
producers will not want to do so since
there is no revenue and profits to be
earned - no effective supply

~ no market exists for public goods and
hence no allocation of resources to the
production of them

[End-point] Allocative inefficiency
results

Para 5
However, rational decision making by both
consumers and producers leads to

inequit

=

able allocation of resources

[Start-point] In a free market, middle
and higher-income consumers will signal
to the producers via higher prices their
valuation of high-end consumer durables
- producers will allocate more
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resources to producing these goods as
doing so will likely bring more revenue

= Fewer resources will be allocated to the
production of basic and essential goods
demanded by the lower-income level
consumers because limited by their
ability to pay, these consumers can only
afford to pay lower prices

= [End-point] Seen as unfair and
inequitable by society

P1: Rational decision making by
government leads to efficient and equitable
allocation of resources

P2: Rational decision making by
government does not lead to efficient and
equitable allocation of resources
Para7
Rational decision making by government
leads to inefficient allocation of resources

Para 6
Rational decision making by government
leads to efficient allocation of resources

= Any one of the three types of
government intervention explained

= Any one of the problems explained below

below Information problems
= [Start-point] Due to possibly
Case of negative externalities inaccurate information, the
= [Start-point] A rational government government may have over-

would implement a tax equivalent to
EMC to induce the consumers to drive
cars less often given the higher MC of
consumption = the PMC shifts to the
left to PMCuith tax = the socially efficient
level of car usage, Qs, will thus be

calculated the true value of the external
cost resulting in the imposition of a
excessively high amount of tax - far
lower level of consumption than
considered optimal - even greater
deadweight loss

achieved.

» Example: ERP St ML + tax |

. i
A | H‘mx FRIE =5 B
I e,
. L h
Quartbs ot
Q& & i o [ )
[l * [End-point] Allocative inefficiency
WATSSNS
h Incompetence

- [Start-point] Despite its bast intention,
the government may lack the expertise.

= [End-point] Allocative efficiency results experience and technical know-how in
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Case of public goods

= [Start-point] A rational government
would decide to directly provide street
lighting because the benefits from
increasing consumption of the good
outweigh the costs > directly provides
the good up to the quantity that it
deems desirable for the society, Qs

Case of market dominance
= A rational government may regulate

the monopoly firm for the resulting
losses

Rational decision making by government
leads to equitable allocation of resources

= Any one of the four types of
government intervention explained
below

Direct provision
= [Start-point] The government may

as healthcare services, pre-school
level, people have access to them
= [End-point] Equity improves
Progressive taxation

= [Start-point] The government may
implement a progressive tax system

the income earned by a high-income
earner than the income earned of a
lower-income earner = tax revenue
collected is then redistributed to lower-
income families through transfer
payments - narrowing of income gap
between the rich and poor

= [End-point] Equity improves

Subsidies
= [Start-point] The government may
subsidize certain goods and services
(usually necessities like education,

= [End-point] Allocative efficiency results

providing essential services - wastage
of resources and ends up overspending

= [End-point] Allocative inefficiency
worsens

Rational decision making by government
leads to inequitable allocation of resources

Case of negative externalities

that the monopoly firm set a price equal
to its MC of production and compensate

= [End-point] Allocative efficiency results

= [Start-point] When a rational
government implements a tax equivalent
to EMC on the consumption of
cigarettes, the burden of the tax may fall
more on the low-income smokers
because the tax takes up a larger
proportion of their income - tax is
regressive in nature

= [End-point] Seen as unfair and
inequitable by society

Political objectives of government

directly provide essential services such

education so that regardless of income

that takes away a higher percentage of

healthcare, basic food items and fuel) to

= [Start-point] When a rational government
is pressured by large research companies
to subsidize R & D activities above the
appropriate level, this can divert scarce
resources from other sectors which are
important for other people.

= [End-point] Seen as unfair and
inequitable by society
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ensure that lower income households
are able to afford them

= [End-point] Equity improves

Price controls
= [Start-point] The government may also
implement minimum wage to
redistribute earnings to the low-paid
workers by specifying the lowest
remuneration that employers are to
legally pay their workers.

= [End-point] Equity improves

Evaluation

[Weigh] Among the economic agents, rational decision making by the government is
more likely to lead to intended consequences than rational decision making by consumers
and producers. This is due to the following reasons:

e Achieving efficient and equitable allocation of resources is all along one of government’s
objectives. The government is therefore more likely to ensure that this will happen. On the
other hand, consumers and producers are not concerned about efficiency and equity in the
first place — they aim to maximize their own self-interests — utility and profits respectively.
As such, if certain assumptions for free markets do not hold, the decisions made by
consumers and producers are more likely to run counter to efficiency and equity.

e In decision making, the government considers costs and benefits to the society whereas
the consumers and producers consider costs and benefits to themselves. This, in itself,
positions decision-making by the government more in alignment with efficient and equitable
allocation of resources than decision-making by consumers and producers.

[Alternative view] Nevertheless, this could also mean that, if for various reasons,
government fails to achieve efficient and equitable allocation of resources, the
consequences may be much more severe. This is because the scale in which government
operates is many times larger than that of consumers and producers. As such, any adverse
impact on efficiency and equity would be amplified.

[Recommendation] Hence, in situations where the likelihood of government failure is high,
the government should exercise caution in deciding whether to go ahead with the decision
or not.
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Mark scheme

Knowledge, Application/Understanding and Analysis

L3

For an answer that uses appropriate analysis to explain the positive and
negative consequences of rational decision making of all 3 economic
agents in terms of efficiency and equity.

15 -
20
(18)

L2

For an answer that uses appropriate analysis to explain of the positive
and negative consequences of rational decision making of 3 or less
economic agents in terms of either efficiency or equity or both.

9-14
(12)

L1

For an answer that gives an under-developed explanation of the positive
or negative consequences of rational decision making of 2 or less
economic agents in terms of either efficiency or equity.

1-8
()

E3

For an answer that uses appropriate analysis to support an evaluative
conclusion about the consequences of rational decision making of
different economic agents.

E2

For an answer that makes some attempt at evaluation of the
consequences of rational decision making of different economic agents.

E1

For an answer that gives an unsupported evaluative statement about the
consequences of rational decision making of different economic agents.
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Question 3a

Sample Answer

Profits can be expressed as Total Revenue (TR) minus Total Costs (TC).
Innovation could be classified broadly as product and process innovation.
The former focuses on the development of new products or improvement
on existing products, while the latter focuses on developing more efficient
production techniques over time, resulting in a fall in their average and
marginal costs of production.

Product innovation in the form of developing new products (e.g. Apple
innovated iPad to be smaller thinner and faster) > makes the product less
substitutable in mobile tablets sphere - DD for the good will become
relatively less price elastic = firm can increase prices to increase total

Definition of
Innovation
Explain how
product

innovation helps
to increase TR

Ceteris paribus, this would lead to an increase in total revenue and also
an increase in supernormal profits from area P1ABC before, to area P.DEF

revenue, and ceteris paribus, profits. eg /Z eeducg}g P gfe)
- As seen in Fig below, by making DD for product less price elastic, firm can good,  allowing
increase their TR by increasing prices, since Total revenue lost due to the | %im 1o increase
decrease in quantity demanded (Area B) is less than total revenue gained | p o increase
due to the increase in price (Area A). profits
- This is as opposed to having to increase TR by decreasing prices if DD for
product is price elastic, where such decreases in prices cannot sustain into
the long run. Therefore, firms product innovate to allow them to increase
P to increase TR and thus profits, ceteris paribus.
Price 4
SSi
Py [-----oooe- )
' B
. \DD » Quantity
Q2 O
- In addition, the development of such new products may influence | Explain how
consumers’ tastes and preferences, - increase in DD for the good. product

innovation helps
to increase DD

after product innovation, as illustrated below. for the good,
leading to
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increased profits

for example, a firm like Apple can reduce unit Costs of Production (CoP).
This leads to Average Costs (AC) faced by the firm to fall, and
correspondingly the Marginal Cost (MC) to fall.

At the new profit-maximising output, where Marginal Revenue (MR) = MC,,
output has now increased from Q1 to Q, allowing the firm to potentially

using
diagrammatic
analysis
» Quantity
- Through process innovation in the form of streamlining production lines, | Explain  how
process

innovation helps
to increase profit
margins/  allow
firms to increase
SS to increase
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earn greater supernormal profits from area PoABC before, to area P1DEF | TR using
after process innovation, as illustrated below. diagrammatic
- analysis
Price’t
C
Pn\ A 0o, ACp
P MC:
C 1,15 h ACI
F 3 E
L » Quantity
Qc O DD
Level Descriptor Marks
L3 | Well — developed explanation on how innovation allows a firm to | 8 — 10
increase profits. Answer makes use of fully-relevant diagrams to
explain the effects of the above strategies on total revenue/total
costs/revenue.
L2 | Underdeveloped explanation on how innovation allows a firm to| 5-7
increase profits.
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Mostly theoretical explanations,
incomplete/inaccurate/inconsistent links towards TR/TC.

with

L1

of definitions.

Response only addresses part of the question OR Whole response
does not link to any economic concepts. Pure listing/regurgitation

Question 3b

Contestable markets are those that are served by one or few firms, and
are kept operating at competitive price and output levels due to the threat
of potential competition/ potential entry of new firms. To engage in
innovation, firms must first have incentive and ability to engage in
innovation. Contestability exists due to ease of entry and exit, no sunk
costs and access to the same levels of technology.

Introduction

A firm’s decision to innovate might be dependent on the contestability of
the market, especially in the case of dominant firms like monopolies.

For example, should the degree of contestability of the market be low, a
monopoly would probably have little incentive to innovate as they are the
sole producer of the good, and regardless of the costs of production or the
quality of their product, demand for the good is likely to be still present
since there is no substitute available in the market, nor is there a threat of
any substitutes that will potentially be developed. This is in spite of them
having the ability to innovate, due to the high barriers to entry protecting
any supernormal profit that they might have earned, into the long run.
Therefore, the firm is likely to produce at the profit-maximising output
where MR=MC (at Qo) and charge at Po as seen in the figure below.

. A
Price

» Quantity

Qo O DD

Perspective
1

Sub-
paragraph 1:
Explain the
ability  and
incentive of a
dominant
firm fo
innovate
BEFORE
contestability

In face of the threat of competition however, the monopolist may therefore
be motivated to operate more efficiently and closer to the competitive level
so that potential entrants will be deterred from entering the industry. In this
case, the firm may be more motivated/incentivised to engage in process
innovation, such as streamlining their operations so as to reduce their unit
cost of production. Such a reduction would diagrammatically lead to a fall
in the MC curve from MCo to MC+, as seen in the figure above, so that at
the profit-maximising output, the price can be lower at P1 and quantity can
be higher at Q.

Perspective
2

Sub-
paragraph 2:
Explain the
ability  and
incentive of a
dominant
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In addition, the firm may also engage in product innovation such as
improving their product or service delivery, such that it would be less
replicable by potential entrants. This would therefore help in

firm to
innovate
AFTER
contestability

However, a firm’s decision to innovate may not necessarily be most
dependent on the contestability of the market — even without the market
being contestable, firms may still be incentivised to innovate as long as the
potential profits reaped outweigh the cost of innovation. For example, if a
monopoly chooses to product innovate so as to make its product even
more unique to reduce its PED value, it would then be able to increase
prices even more in order to increase total revenue, and ceteris paribus,
its profits. The degree of contestability does not necessarily affect a firm's
decision to innovate.

P2: Potential
profits is a
factor
affecting
firm’s
decision to
innovate.

Furthermore, firms’ decisions to innovate may also be dependent on other
factors like alternative objectives as well. This could be seen in oligopostic
market structures, where may be incentivised to innovate so as to increase
market share. This can be seen from firms like Apple, which continually
come up with new revisions of its iPhone by adding incremental features
so as to reduce the substitutability of its smartphones, and in so doing
hopefully increase the market share in the smartphone market.

P3:
Alternative
objectives
could be a
factor
affecting
firm’s
decision to
innovate.

A firm’s decision to innovate may also be dependent on whether the firm
is even affected by contestability. Markets that tend to already be
competitive such as perfect competition and monopolistic competition do
not even face the threat of contestability. Therefore, these firms do not
depend on contestability to decide whether to innovate.

P4:

Firm’s
decision to
innovate
may be
independent
of
contestability
if it does not
even apply
to them.

Consequently, it also depends on whether the firm has the incentive and
ability to innovate. This is in turn dependent on the market structure that
the firm operates in. For example, if the firm in question operates in a
monopolistic competitive market structure, such as neighbourhood
confectionary shops, then they probably would have no incentive to
innovate. This is due to the low barriers to entry, where potential new
entrants can gain easy access to information about the innovations in
production processes or innovative tastes of breads, allowing new entrants
to easily replicate them and thus compete away the potential profits gained
by the initial firm who innovated. In the long run, the firm would therefore
make normal profits, thereby rendering them unlikely to have the ability to
engage in innovation in the first place, since innovation requires significant
financial resources to see to its fruition. Therefore, even if a firm may or
may not be subjected to contestability, it has to consider whether they have
the ability and incentive to innovate before even considering the decision
to innovate.

P5: Incentive
and ability to
innovate
could be a
factor
affecting
firm’s
decision to
innovate

[W] In conclusion, a firm’s decision to innovate probably is definitely not
most dependent on the degree of contestability it faces — rather, it is likely
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that it primarily depends on the ability to innovate in the first place. This is
because for firms which do not have the ability to innovate in the first place,
innovation will not even be a potential decision to consider.

Likewise, even if monopolies and oligopolies are faced with the threat of
increased competition, they probably would still not innovate if they are
making sub-normal or normal profits.

[S] Also, whether or not a firm engages in innovation, regardless of
contestability, may also depend on whether government provides sufficient
subsidies/rebates to help firms innovate (to maybe develop potential new
areas of comparative advantage). If government provides substantial
incentives for firms, it is likely that firms even in the monopolistic
competitive structure might be incentivised to innovate as long as the
marginal benefit of innovation is more than or equals to the marginal cost
of innovation.

Level

Descriptor

Marks

L3

A balanced and well-developed answer on whether the firm’s decision to
innovate is dependent on contestability, with consistent use of examples
where appropriate.

8-10

L2

An under-developed, balanced answer on whether the firm’s decision to
innovate is dependent on contestability, with inconsistent use of examples.

L1

A one-sided answer which merely lists and describes whether the firm’s
decision to innovate is dependent on contestability

Many/Serious conceptual errors; mainly irrelevant points that does not
address the question requirement.

Evaluation

E3

For an answer that arrives at an analytically well-reasoned judgement
about whether a firm’s decision to innovate is most dependent on the
contestability of the market. Might also question any unstated assumptions
to arrive at this well-reasoned judgement.

E2

For an answer that makes some attempt at evaluation, but does not explain
adequately their judgement or base it in analysis, about their judgement on
whether a firm’s decision to innovate is most dependent on the
contestability of the market.

E1

For an answer that gives an unexplained, unsupported evaluative
statement on whether a firm’s decision to innovate is most dependent on
the contestability of the market.
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Question 4a

Suggested Answer

- Deflation refers to a sustained decrease in the general price level of the economy.

- Deflation can be due to a persistent fall in AD or due to a persistent increase in SRAS.

- The persistent fall in AD or persistent rise in SRAS can be due to both domestic causes
and as well as external causes.

Domestic causes of the persistent decrease in AD
- Government policies:

o Continual tightening of the monetary policy that results in a higher interest rate, cost
of borrowing rises and reduces profitability of firms. This leads to a decrease in
investment,

o Rise in taxes such as income tax or corporate tax will decrease disposable income
and after-tax profits of firms respectively. Consumption and investment will
decrease.

o Persistent overvaluation of exchange rate to maintain the value of currency-
resulting in exports being relatively more expensive and this can result in a fall in
export revenue.

- Debt deleveraging - After a credit bubble, people may be seeking to pay off debts and have
to reduce spending, resulting in a fall in consumption. For example, in the on-going fiscal
debt saga experienced by the Greek economy, the Greek authorities are facing immense
pressures from the European Union to cut spending and raise taxes and show that they
are able to service their debt obligations.

- Decrease in AD and therefore a decrease in the general price level of the economy,
resulting in deflation.
External causes of the persistent decrease in AD
- Worldwide recession
o Fall in household incomes globally. This reduces households’ disposable incomes
and their purchasing power. As a result, the demand for Singapore’s exports will
also decrease and lead to a fall in export revenue (ceteris paribus). AD will fall
significantly as export revenue takes up a large component of Singapore’s AD.
o Pessimistic outlook, firm expects poor demand and consumer are uncertain about
future outlook, rather save than consume - Fallinland C
o Deflation usually occurs during a deep, prolonged, severe recession, when there is
sustained fall in demand

- Decrease in AD and therefore a decrease in the general price level of the economy,
resulting in deflation

Domestic causes of the persistent increase in SRAS

- Rapid growth in technology. For example, the use of automation (such as 3D printing,

prefabrication of construction material) has reduced cost of production in many industries.
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- Government policies. For example, the SkillsFuture initiative by SG govt aims to make it
simple for workers to gain skills and continually sharpen them through their careers. To do
so, the Government will invest over $1 billion in total from 2016 to 2020 to fund the
SkillsFuture credits that can be used for work skills-related training. Singapore Workforce
Development Agency, will also pay up to 90% of skills upgrading course fees. Such
programmes will improve the level of skill mastery in Singapore and improve labour
productivity.

- Reduces cost of production, and increases SRAS, resulting in a fall in GPL and deflation.
External causes of the persistent increase in SRAS

- Persistent fall in the costs of raw materials such as crude oil and raw materials/food. Oil
prices have fallen from a high of $120 in 2012 to as low as $35 in 2017. Fall in cost of
production due to lower cost of oil-based inputs, transport and energy brought by lower oil
prices

- Reduces cost of production, and increases SRAS, resulting in a fall in GPL and deflation.

Knowledge, Application, Understanding and Analysis

L3 | For a developed answer that shows a comprehensive understanding of the | 8 — 10
different causes of deflation. Explain the domestic and external factors of (9)
deflation with good use of AD-AS framework. Good use of examples

L2 | For an underdeveloped answer that shows some understanding of the | 5-7
different causes of deflation. Explain the domestic and external factors of (6)
deflation. Some use of AD-AS framework

L1 | For an answer that is mostly descriptive, with some inaccuracies. Attempted | 1 -4
to describe some factors (either domestic or external causes) of deflation. (3)

Question 4b
Discuss the extent to which deflation affects the balance of payments position in an
economy. [15]
Introduction Introduction

- Balance of payments account (BOP) refers to its record of economic
transactions between its residents (households, firms and government)
and foreigners over a period of time usually a year.

- Two main components: current account balance + capital and financial
account balance.

- Deflation refers to a fall in the general price level of the economy

Perspective 1: Deflation improves the price competitiveness of X >

improves BOP.

. . . . . . Deflation
Deflation - Fall in price of X (gain of export price competltlvenes_s) | improves price
= Assume PEDx>1 - more than proportionate increase in quantity | competitiveness
demanded for Japanese’s exports thus a rise in export revenue. of X  and
= Japanese consumers will switch from more expensive imported | improves BOP
. . position of an
goods to consume more domestic products - decrease in demand economy
for import - import expenditure decreases
= Current account improves
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=>» Ceteris paribus, BOP position improve.

Perspective 1: Deflation worsen investors’ confidence and worsen

capital account

Deflation, - persistent fall in prices may affect the investors and consumer
confidence as consumer delays their purchases,
= Fall in FDI due to falling demand for goods and services (falling
profits)
=>» Capital account worsens
=> BOP position worsens, ceteris paribus

Deflation might

result in
consumer

delaying  their
purchases and

worsen FDI and
capital account.

Perspective 2: Other factor such as global downturn resulting in poor
investor and consumer confidence may also affect BOP

However, besides deflation, there are other factors that may affect BOP.

=>» Global downturn worsen investors’ and consumers’ confidence and
can affect BOP

= For example, Singapore was the first East Asian country to go into a
recession in 2009 due to the global slowdown arising from the US
Financial Crisis.

= There was a significant decrease in global demand, resulting in a fall
in net exports which hit Singapore especially hard, in view of the small
domestic demand and heavy dependence on exports for growth.
Thus, in this case, when deflation is caused by the falling income of
the world economies, BOP position is likely to worsen

POV2:

Other factors
such as Global
downturn affects
the BOP balance

Perspective 2: Other factors such as inflation may also affect BOP

However, there are other factors such as high inflation that may affect BOP.

= A higher inflation rate will also mean that the price of Singapore’s
exports will fall and become less affordable to foreign consumers.
For example, the Singapore government has tightened the foreign
labour quota in recent years. This has led to upward pressure on
wages and has increased the costs of production of domestic
producers, which translates to higher prices of final goods and
services.

This results in a fall in Singapore’s export price competiveness. As
the demand for her exports is price elastic (due to the large number
of substitutes available for Singapore’s exports), a loss of price
competiveness will result in a fall in export revenue. An increase in
the rate of inflation in Singapore will also affect its import expenditure.
As domestic prices increase, Singaporean consumers will switch from
domestic produced goods to imported goods and this is especially
pertinent to Singapore since a significant amount of domestic
produced goods in Singapore has close imported substitutes. The fall
in export revenue and increase in import expenditure results in a fall
in net exports, therefore worsening the current account balance.

= BOP position worsens, ceteris paribus.

>

POV2:

Other factors
such as Global
downturn affects
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Perspective 2: Other factors such as government policies may also
affect BOP

Government Policies - Depreciation of Currency

=>» Besides, deflation, there are other factors that affects the balance of
payment position of a country. A monetary authority of an economy
could manage the exchange rate of the country to affect its balance
of payment position.

The extent of the impact of a change in exchange rate depends on
the price elasticity of demand of imports and exports. Price
elasticity of demand (Ed) measures the degree of responsiveness of
quantity demanded of a good to a change in its price, ceteris
paribus. It is calculated as percentage change in quantity demanded
divided by percentage change in price.

Should a government decide to bring about a fall in the external
value of the currency, through depreciation, it will cause a fall in the
foreign price of exports and a rise in the domestic price of imports.
Depreciation, which reduces the foreign price of exports, will result
in a more than proportionate increase in the quantity demanded of
exports. Export revenue will increase. On the other hand,
devaluation will raise the domestic price of imports; if the demand
for imports is price elastic, it will lead to a more than proportionate
decrease in the quantity demanded of imports. Import expenditure
will fall.

Hence if both demand for exports and imports are price elastic,
depreciation has effectively help to improve the balance of
payments deficit.

POV2: Other
factors such as
depreciation and
PED affects the
balance of
payment

Perspective 2: Other factors such as the provision of infrastructure to
attract FDI may also affect BOP

Government Policies - SS side policies

= Government fiscal policy and expenditure on new growth sectors
can also help to attract long term capital and hence affect the capital
account and hence BOP positively.

= In recent years, the Singapore government has supported the
development of the bio-medical science industry as a new export
industry. Through joint-ventures with the private sector, and generous
grants, the government has for example, built the Biopolis, a complex
to house research and development companies in the bio-science
with the hope that Singapore would be exporting new drugs/solutions

Anderson Junior College Economics Department

POV2: Other
factors such as
good
infrastructure
that attracts FDI
can affect BOP
position
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to the rest of the world. As a result, research and development in
these areas can result in lower prices and better quality products,
leading to improvement in export competitiveness (both price and
non-price competitiveness), hence managing Singapore’s BOP.

= The Biopolis, with its advanced infrastructure, has attracted seven of
the top ten pharmaceutical companies in the world, such as Pfizer
and GlaxoSmithKline to have units in Singapore to take advantage of
the lower opportunity cost in production of pharmaceutical products.
This has help Singapore to attract long term capital, improving the
LTK account and hence improving BOP position, ceteris paribus.

Perspective 2: Other factors such as the recognition of the benefit of
free trade may also affect BOP

Government Policies - Globalisation and recognition of the benefit of
free trade by government affect the BOP of economy

= With the trends towards globalisation and with it driven by the greater
awareness of governments that enabling the free movement of
goods and services, investment capital and labour, across national
borders. This realization of the benefits of trade according to the
principle of comparative advantage has led many governments to
seek trade opportunities and hence signed more FTAs that helped
affect the balance of payment position.

= Thus the recognition of the benefit of free trade by governments have
affects the BOP position.

= For e.g. Singapore has concluded multilateral FTAs with many
countries and also signed the Trans-Pacific Partnership trade
agreement. All of these trade agreements will help to lower trade
barriers and free our exports from tariffs, maintaining its price
competitiveness. In addition, the reduction in trade barrier makes the
economy more open to competition, giving firms incentive to engage
in R&D to improve product quality or improve technique of production
to lower wunit cost of production, increasing export price
competitiveness.

=>» This will help to increase exports revenue and national income, as
analysed earlier. As embedded in the agreements is also a clause to
ensure protection of intellectual property rights, this will also attract
investments, improving competitiveness of Singapore as an
investment destination. Thus, the degree of FTA affects the balance
of payment position.

POV2: Other
factors such as

realising the
benefit of free
trade and

signing of more
FTAs agreement
can help to
improve BOP
position

Evaluation:
=>» Deflation affects the balance of payment position but it is not the most

significant factor. The most significant factor that affects balance of
payment position in Singapore is government recognition of the

Evaluation:
Situation: Most
significance
factor that
affects the BOP
position in
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benefit of free trade and hence its intervention to create the | Singapore is the
comparative advantage of our country. ggivgovemmem
intervention to

=> Singapore government has created comparative advantage through | create the CA in
its policies and hence help to improve our balance of payment tSh'Pfuagphore the
position. For example, Singapore does not start off with having a | provision of
comparative advantage in pharmaceutical and petrochemical | infrastructure to
industries. However, through incentives and provision of attract LTK.
infrastructure, the government spearheaded the development of
these industries. The development of Jurong Island serves as a
catalyst for the petrochemical industry, drawing investors from other

countries.

= Another example is the Biopolis, a biomedical science research and
development (R&D) hub. Biopolis area is the largest infrastructural
project initiated by the Singapore government; this place is dedicated
to biomedical R&D activities and has an environment that fosters a
collaborative culture among the private and public research
community. Seven of the top ten pharmaceutical companies in the
world, such as Pfizer and GlaxoSmithKline have units in Singapore.
This explains why one of Singapore’s top exports is pharmaceutical
products. This has led to the persistent balance of payment surplus
position in Singapore and has contributed to the 270 billion
accumulated foreign reserves currently.

Knowledge, Application, Understanding and Analysis

L3 | For a comprehensive and detailed answer that provides a balanced | 8 — 10
discussion on how deflation and other factors affect the balance of payments (9)
position in an economy.

L2 | For an answer that provides a balanced but undeveloped discussion on how | 5-7
deflation and other factors affect the balance of payments position in an (6)
economy

L1 | For an answer that is mostly descriptive, with some inaccuracies andisnot| 1-4
in context. (3)

Allow up to 4 additional marks for Evaluation

E3 | Foran answer that arrives at an analytically well-reasoned judgementonthe | 4 -5
extent to which deflation affects the balance of payments position in an
economy.

E2 | For ajudgement based on economic analysis and makes some attemptata | 2 -3
judgment on the extent to which deflation affects the balance of payments
position in an economy.

E1 For an unexplained judgement, or one that is not supported by economic 1
analysis

Anderson Junior College Economics Department Page 25



Question 5
P1: EFFECTIVENESS OF POLICIES (How it works, Advantages)

o Exchange rate policy

H: Modest and gradual appreciation of S$ effective in achieving low inflation. Alleviates imported cost
push inflation in SG as domestic price of imports will be lower, lowering cost of imported raw materials.

H: May also adopt neutral policy stance, i.e. zero appreciation (or in effect, a depreciation) to help
achieve growth and reduce unemployment during times of recession. Helps to increase
competitiveness of Singapore’s exports and increase AD, thus RNY. Given that MLC is like to hold as
PEDx is greater than 1 due to availability of many close substitutes, the BOT and thus BOP will also
improve, ceteris paribus.

A: Since exchange rate policy works through controlling external rather than domestic demand, it is rather
effective (and more effective than fiscal policy) as external demand accounts for about 2/3 of total
demand in Singapore whereas consumption and investment expenditure do not contribute as much.

A: Since Singapore is a small economy that lacks natural resources and is heavily reliant on imports
of raw materials, the impact on reducing imported inflation will be significant.

o Fiscal policy

H: Fiscal policy has been used by Singapore to counter adverse external shocks in order to ride out
the crises. For example, in the aftermath of the Asian Financial crisis (1998), the bursting of the tech-
bubble (2001) and SARS (2003), the Singapore government relied on fiscal measures, including tax
credits, transfer payments and various rebates on housing and utilities, especially for the vulnerable low-
income groups, to help cushion the impact of the shock. These helped to reduce the fall in AD and thus
RNY, helping to stimulate growth, reduce unemployment and also ensured that inequity would not
worsen.

H: Apart from the discretionary component that largely takes place on the expenditure side, Singapore’s
fiscal policy also consists of an automatic stabiliser component. This largely takes place on the revenue
side, particularly through the progressive income tax system. It helps to reduce the magnitude of the
economy’s cyclical fluctuations by reducing the rate of economic expansion (and thus price increase),
keeping inflation in check or reducing the rate of economic decline (and unemployment), helping
the economy to recover.

H: The progressive tax system also helps to achieve inclusive growth as higher income earners pay
higher marginal tax rates than lower income earners. The tax revenue which is collected can be
redistributed as subsidies to make healthcare, education and housing affordable to lower income family,
thereby improving equity. In addition, the Singapore government invests heavily in human capital, for
example, through Skills Future that helps workers learn new skills and raises the average quality of the
labour force. This creates productive employment opportunities and hence inclusive growth when more
secure jobs.

A: It should be noted, however, that fiscal policy in Singapore is directed primarily at promoting
sustained (actual and potential) growth rather than cyclical adjustment or distributing income. It does
so by having a strong supply-side orientation, for example by channelling more funds into
productive infrastructure. This approach has enhanced the productive capacity of the economy,
helping Singapore to achieve sustained growth.

A: The combination of competitive tax policies and prudent expenditure programmes has also
allowed Singapore to avoid government borrowing and deficit spending that have led to inflation and
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a heavy burden of national debt in many other countries. It has allowed Singapore to remain an attractive
place for investment and talents which help to increase our LRAS and AD that promotes sustained
growth.

A: Government spending on R&D has resulted too in more sustainable use of natural resources in
Singapore (such as the increasing use of renewable solar energy), as well as less negative externalities
(such as air and land pollution) through newer and cleaner production processes. Thus fiscal policy in
Singapore, via its supply side effects, helps to achieve sustainable growth.

o Supply-side policy

H: Singapore’s supply-side policies are multi-dimensional that aim to improve quantity, quality and
mobility of factors of production; increase efficiency and remove barriers to competition and trade in
product markets as well as give incentives and encourage enterprise. Helps to achieve potential growth
and thus sustained growth as well as favourable BOP. Can also help to reduce structural unN,
inflation and income inequity.

H: One example is tax incentives/liberalisation and deregulation that are used to encourage foreign direct
investment and encourage R&D. For example, Singapore has one of the world’s lowest corporate income
tax rates and also has a National Productivity Fund to provide grants to support both industry-wide and
enterprise-level productivity initiatives. The increase in FDI leads to increase in AD and multiplied
increase in RNY, contributing to actual growth. In addition, it increases the productive capacity of the
economy, increasing LRAS and boosting potential growth. Similarly, the productivity initiatives help to
lower unit cost of production for firms, increasing SRAS and also adds to the productive capacity,
increasing LRAS, achieving sustained growth with little inflation.

Can provide other examples of supply-side policies and explain how they help Singapore to achieve its
macroeconomic objectives.

o Trade policy

H: Singapore is generally a free port and an open economy, more than 99% of all imports enter the
country duty-free. Singapore continues to pursue trade liberalisation through greater economic co-
operation and signing free trade agreements in order to maximise the benefits that can be gained from
globalisation and trade. Signing FTAs mean Singapore-based exporters and investors stand to enjoy a
myriad of benefits like tariff concessions, preferential access to certain sectors, faster entry into markets
and Intellectual Property (IP) protection. FTAs set a framework for our businesses to grow and expand
globally, which in turn generate more employment opportunities. These help to achieve sustained
growth, low unemployment and a favourable BOP.

A: As Singapore has a small domestic market, the access to foreign markets can lead to a significant
increase in the level of income, employment and BOP position compared to policies that stimulate
domestic demand. There can also be a transfer of technology and expertise together with the inflow of
foreign capital that leads to potential growth.

P2: LIMITATIONS OF POLICIES (L)
o Exchange rate policy

Conflict between low inflation and favourable BOP

When the government adopts an appreciating exchange-rate centred monetary policy to combat
imported inflation, it could face a trade-off between inflation and the Balance of Payments (BOP) position.
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The domestic price of final imports will be lower and the cost of production will also be reduced since
imported raw materials are now cheaper in domestic currency. This will help lower the general price level
and reduce imported cost-push inflation.

With an appreciation, foreign price of exports increase, domestic price of imports fall. Assuming PEDx >1
and PEDm >1, arise in foreign price of exports will lead to a more than proportionate decrease in quantity
demanded in exports, and a decrease in domestic price of imports will lead to a more than proportionate
increase in quantity demanded of imports. This leads to a decrease in exports revenue and an increase
in import expenditure. Hence net exports (X-M) decreases, leading to a worsening CA, and thus BOP
position.

Furthermore, appreciation of S§ may hurt competitiveness of Singapore’s export of services as they
do not benefit from lower imported input prices as much as manufactured goods and the service sector
contributes to about 2/3 of Singapore’s national income.

Small multiplier constraints scope of demand management

As the value of the multiplier in Singapore is relatively low due to its high marginal propensity to import
and high marginal propensity to save among households, the scope for active demand management
through the exchange rate policy is limited. Even though it can help to increase AD, the magnitude of
increase of RNY is smaller.

No direct impact on potential growth

Potential growth of an economy is ultimately still determined by supply-side factors such as technological
progress, capital accumulation, and the size and quality of the labour force. Unlike supply-side policies,
exchange rate policy cannot influence these supply-side factors directly. It can only do so indirectly
by providing a sound and stable macroeconomic environment with a stable currency that boosts business
confidence and ensures the smooth and efficient functioning of the economy, thereby sustaining its
growth.

o Fiscal policy

Conflict between growth and inflation

Using expansionary fiscal policy to achieve growth may lead to demand-pull inflation when the economy
is near to full-employment output. This is especially so when the increase in AD is not matched by an
increase in SRAS/LRAS.

Conflict between growth and favourable BOP

Following from the above, if demand-pull inflation results, it will lead to exports becoming less price-
competitive. This might lead to a fall in export revenue.

In addition, as national income increases with economic growth, there will be an increase in import
expenditure due to greater purchasing power. The extent to which imports will increase depends on
marginal propensity to import (MPM). If import expenditure (M) grows faster than export revenue (X), the
trade position and hence balance of payments position worsens, ceteris paribus.

Conflict between growth and structural unN

As explained earlier, Singapore uses fiscal policy with strong supply-side orientation to restructure the
economy and achieve growth. However, grants to encourage the growth of certain industries may lead
to employment in sunrise industries but employment in other sunset industries may contract. People who
are made redundant are not able to take up the jobs in other parts of the economy immediately due to
mismatch between the skills of the unemployed and the skills required for the jobs available. This conflict
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is exacerbated by the speed in which production processes are modified due to developments in
technology.

Small multiplier constraints scope of demand management

Similar to the exchange rate policy, the fiscal multiplier in Singapore is relatively low due to high
leakages. The small multiplier thus constraints the scope for active demand management through fiscal

policy

Nature of the economy

Singapore is highly trade-dependent with C, | and G forming a relatively smaller proportion of AD. Thus,
fiscal policy has a smaller impact on the economy.

o Supply-side policies

Less effective in short-run, needs time to take effect

Supply-side policies require long-term structural changes to be made to increase AS in the economy.
They have little relevance from the point of view of short-term economic management. For example,
when AD is very low (e.g. during a major recession), an increase in the capacity of the economy is of no
help unless there is a corresponding increase in AD.

Difficult to change attitudes and mindsets

If supply-side policies are education related, there could be difficulty in changing people’s attitudes and
mindsets, particularly towards retraining or switching jobs. Workers may be unwilling to switch
occupations mid-career or attend training/retraining programmes.

Forecasting difficulties

Manpower planning is difficult given the difficulty to accurately predict the economy’s needs in the future.
Given the rate of technological advancement, the economic structure of the country could change more
rapidly or dramatically than the government can imagine.

o Trade policy

Increased structural unemployment

Structural changes might occur in the economy due to economic co-operation and signing of FTAs, as
different countries consolidate and focus on their competitive industries. Domestic firms existing in a
relatively less competitive industry may find it difficult to compete with foreign firms and have to leave
the industry. The retrenched workers from these firms might not be able to enter the new industries as
they lack the necessary skills required in the new industries, leading to structural unemployment.

Widening income disparity

The relocation and offshoring of production process in many developed countries leads to an increase in
demand for skilled workers and a fall in demand for lower skilled workers. This results in an increase in
wages for those with relevant skills while low or even no income for those who are displaced. There will
be a widening income and wealth gap.

CONCLUSION/FINAL EVALUATION
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According to Tinbergen’s rule which states that for every policy target, there must be at least one policy
tool, Singapore will need to implement a range of policies to sustain a successful economy. Specifically,
to achieve all of its macroeconomic objectives, there is a need for several alternative policies to be
implemented simultaneously given the conflicts or limitations faced by the government for each policy. A
careful adoption of alternative policies help to complement one another and reduce the conflicts or
limitations faced.

For Singapore, the exchange rate policy complements the supply-side oriented fiscal policy very well in
achieving inclusive growth, low inflation, low unemployment as well as a favourable balance of payments.
One without the other would seriously limit the effectiveness of the policies. Given Singapore’s need to
remain competitive globally, supply-side oriented fiscal policy is still considered the key policy
responsible for achieving many of its macroeconomic objectives, with the exchange rate policy playing
a complementary role. With its ethos of fiscal rectitude, the MAS has been able to focus on its primary
goal of ensuring price stability and preserving confidence in the domestic currency through the
appropriate management of the S$ exchange rate, without needing to balance this against the
requirements of deficit financing. This has allowed Singapore to ensure low inflation for sustained
economic growth and low unemployment over the medium term.

Nevertheless, careful calibration and balance between the policies going forward are even more
important as global growth slows and there is an increasing protectionist stance in the world. A greater
emphasis on supply-side policies may be needed since increasing productivity and encouraging
innovation are two vital elements to helping Singapore achieve its macroeconomic objectives in the long-
term.

Knowledge, Application/Understanding and Analysis
L3 For an answer that uses appropriate analysis to discuss a range of policies and | 15 —
their effectiveness in achieving all the government’s macroeconomic objectives. 20

Discusses H & L in the context of Singapore for at least 3 policies (must include (18)
exchange rate and supply side policies) and considers all 4 macro objectives.

L2 For an answer that gives a descriptive discussion of policies and their | 9 — 14
effectiveness in achieving some of the government’s macroeconomic objectives. | (12)
Discusses H & L in the context of Singapore for at least 2 policies (exchange rate
and supply side) and considers at least 3 macro objectives.

L1 For an answer that shows knowledge of 1 or 2 policies to achieve some of the | 1 -8
government’s macroeconomic objectives or one- sided. (5)

E3 For an answer that uses appropriate analysis to support an evaluative conclusion | 4 —5
about the effectiveness of alternative policies implemented by the Singapore
government to achieve its macroeconomic objectives.

E2 For an answer that makes some attempt at evaluation of the effectiveness of | 2 -3
alternative policies implemented by the Singapore government to achieve its
macroeconomic objectives.

E1 For an answer that gives an unsupported evaluative statement about the 1
effectiveness of alternative policies implemented by the Singapore government to
achieve its macroeconomic objectives.
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Essay 6a

Suggested answer (a)

Countries can mutually benefit from free trade, including those countries that are the most
efficient at producing all products which can be explained by the theory of comparative
advantage (CA). The theory states that even where one country has absolute advantage over
another in both industries, specialisation and trade can still benefit both countries, if each
country has a comparative cost advantage. Comparative cost relates to the opportunity costs of
producing the commodities.

A country is said to have a comparative advantage over another in the production of a commodity
if it incurs a lower opportunity cost in producing the good or service. The cost of producing goods
can be measured as an opportunity cost of not being able to produce alternative goods with the
resources that are used up.

The theory assumes that there are two countries, two commodities and they have the same
resource endowment and divide their resources equally between the 2 goods.
Table 1: Production pattern before specialisation

R&D Pharmaceutical
products products

USA 100 50

Singapore 5 10

World Total 105 60

For example, USA has absolute advantage over Singapore in the production of both R&D
products and pharmaceutical products, but the margin of advantage differs in the two products.
USA can produce 20 times more R&D products than Singapore using the same amount of
resources, but only 5 times more for pharmaceutical products. USA is said to have comparative
advantage in the production of R&D products and a comparative disadvantage in the production
of pharmaceutical products and this can be illustrated by table 2.

Table 2: The opportunity cost of producing

1 R&D products |1
Pharmaceutical
products
USA 0.5 2 R&D products
Pharmaceutical
products
Singapore 2 Pharmaceutical 0.5 R&D products
products

The sacrifice of pharmaceutical products production in producing one unit of R&D products is
much lower in USA than it is in Singapore. On the other hand, the loss of R&D products
production in the production of pharmaceutical products is lower in Singapore than in USA. Thus,
USA has lower opportunity cost in the production of R&D products while Singapore has lower
opportunity cost in the production of pharmaceutical products. This means USA has a
comparative advantage in R&D products production while Singapore has a comparative
advantage in pharmaceutical products production.
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Assuming that USA decides to transfer 1/10 of her resources from pharmaceutical products
production to R&D products production and that factors of production are perfectly mobile and
costs remain constant, the production with specialisation pattern will be as shown in Table 3.

Table 3: Production pattern with specialisation

R&D Pharmaceutic
products al products

USA 110 45

(Partial specialization and transfer

1/10 of resources from pharmaceutical

products to R&D products)

Singapore 0 20

(Complete Specialisation)

World Total 110 65

Table 3 shows that world output for both goods have now increased and both countries will
now consider to trade, provided that there is a favourable terms of trade. Since USA will not pay
more than 2 R&D products for 1 pharmaceutical products from Singapore (as it only takes USA
2 R&D products to produce 1 pharmaceutical product herself) and Singapore will not exchange
1 pharmaceutical products for anything less than 0.5 R&D products (as 0.5 R&D is what
Singapore has given up for every unit of pharmaceutical products that she produces), 0.5 R&D
products represents the lowest international price of pharmaceutical products while 2 R&D
products represents the highest international price of pharmaceutical products (i.e. 0.5 R&D <
1P <2 R&D). Conversely, the terms of trade for USA’s export of R&D products must lie between
0.5 pharmaceutical products and 2 pharmaceutical products (i.e. 0.5P < 1R&D < 2P).

The actual ratio at which goods are traded will depend on factors such as the price elasticity
demand of each country’s imports and exports. Assuming that the terms of trade for this example
settles at 1 R&D product = 1 Pharmaceutical product and the countries trade 7 R&D products
for 7 pharmaceutical products, the consumption level after trade will be as shown in Table 4.

Table 4: Consumption after trade

R&D Pharmaceutic
products al products
USA 103 52
Singapore 7 13
World Total 110 65

Comparing Table 1 and Table 4, assuming that there are no barriers to trade and no transport
costs, USA gains 3 units of R&D products and 2 units of pharmaceutical products while
Singapore gains 2 units of R&D products and 3 units of pharmaceutical products after
specialisation and trade. Both countries consume a higher level of total output and world output
increases as well.

In conclusion, the theory of CA explains that countries can mutually benefit from specialization
and trade in terms of higher consumption, based on a favourable terms of trade, which further
increase the SOL of these countries. Moreover, these countries can benefit from increase in
variety of goods and services, especially those goods which they do not produce themselves,
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prior to trade. In actual fact, countries can benefit much more due to the dynamic benefits from
specialization and trade from economies of scale and competition.

Mark Scheme

Leve Knowledge, Application/Understanding and Analysis Mark
|
L3 For an answer that gives a detailed and analytic explanation of specialisation | 8 — 10
and trade gained through explanation of comparative advantage and (9)
appropriate terms of trade.
L2 For an answer that describes the reasons why countries benefit from free 5-7
trade or a response that only refers to specialisation or only refers to trade. (6)
L1 For an answer that shows unexplained knowledge of the benefits from free 1-4
trade. (3)
Question 6b

Globalistion: Increasing integration of the world economy and is characterised
by greater international interdependence among economies.

P1: Desirable (positive impacts)

P2: Undesirable (negative impacts)

1 openness and trade - 1 scope for
specialization and trade according to Theory
of CA - 1 world output and consumption ->
1 variety of goods and services - 1 SOL

1 openness and trade - 1 scope for trade
2>1X>1M=>1AD > 1 RNY by multiplied
amount - achieve actual growth

1 RNO - demand for labour 1 since demand
for labour is derived from the demand of final
goods and services 2 1 employment

1 RNO - 1 production = 1 scope to reap
EOS (especially for small countries like
Singapore with small domestic markets -
increased market size through increased
openness and trade allows them to increase
their scale of production) - achieve
productive efficiency

1 openness and trade - allow for
offshoring to occur - differences in the
demand for high-skilled workers and
low-skilled workers - differences in the
wages of these 2 groups of workers -
income gap 1-> worsen equity across
countries

1 openness and trade > 1
vulnerability to external shock (i.e. open
economies such as Singapore was one
of the first to be hit during the global
financial crisis in 2009) > | X > | AD
- | RNY by a multiplied amount =
worsen actual growth

| RNO - demand for labour | since
demand for labour is derived from the
demand of final goods and services >
1 demand-deficient employment

| X-M (extend from the point above) >
worsen current account and hence
BOP position

1 openness and trade - susceptible
to rising costs of imported raw material
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- COP 1t - SRAS | - worsen price
stabilit

1 capital mobility - allows for inflow of FDI
-> improve long term capital flow and hence
capital and financial account, thus improving
BOP position

Inflow of FDI could bring about technological
transfer which improves the quantity and
quality of FOP. LRAS 1 - productivity
capacity 1 - achieve potential growth

1 productivity could have a knock-on effect
on SRAS - COP | > SRAS 1 - coupled
with the 1 AD, SRAS and LRAS - achieve
price stability

1 capital mobility > allows for inflow
of FDI who may bring technological
transfer - if the local workers do not
have the skills required to operate such
technology - mismatch of skills >
structural unemployment 1

1 capital mobility - If FDI are
footloose and withdraw capital in times
of negative outlook - worsen long term
capital flow and capital and financial
account > worsen BOP

1 labour mobility - inflow of foreign talents
and/or workers = improve the quality and
quantity of FOP (especially desirable for
Singapore that faces a declining birth rate
and an ageing population = thus ensuring
increase in the pool of productive labour) 2>
LRAS 1 - productivity capacity 1 - achieve
potential growth

1 productivity could have a knock-on effect
on SRAS - COP | > SRAS 1 - coupled
with the 1 AD, SRAS and LRAS - achieve
price stability

1 labour mobility - allows for 1
demand for cheaper foreign labour >
displace more expensive local workers
- 1 unemployment of local workers

1 labour mobility - skilled workers
leave countries in search of better
wages -> brain drain in home country
- | quality and quantity of FOP >
LRAS | - productivity capacity | =
worsen potential growth

Brain drain could lead to concentration
of low value-added production in
certain countries > worsen equity
across countries

1 competition - firms are more likely to
conduct R&D which may bring about
technology advancement - improve the
production process - LRAS 1 - productivity
capacity 1 - achieve potential growth

1 competition > countries may speed
up process of structural changes in
search of new CA - workers without
the relevant skills will not be employed
due to mismatch of skills > structural
unemployment 1
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Evaluation: (Give a stand and justify)

Depends on the various policies implemented to address the costs of
globalization - For example: Singapore has implemented policies such as the
foreign worker quota to restrict the inflow of foreign labour and Skillsfuture to
improve the skills of workers to keep them relevant in the changing economy ->
thus, globalization will be more desirable

Depends on the nature of economy - For example Singapore being small and
lack natural resources - cannot turn to small domestic market for growth >
have to open her market to the rest of the world to reap the benefits of
globalization - thus, globalization will be more desirable

Mark Scheme:

Level Knowledge, Application/Understanding and Analysis | Mark |

L3 | For a balanced answer that uses appropriate analysis and | 8 — 10
framework to discuss if globalisation is often but not always | (9)
desirable, with good usages of examples

L2 | For a balanced answer that gives a descriptive discussion if | 5-7
globalisation is often but not always desirable, with limited usages (6)
of examples

L1 For an answer that shows superficial discussion if globalisation is | 1 -4
often but not always desirable (3)

E3 | For an answer that arrives at an analytically well-reasoned | 4 -5
judgement about whether globalisation is desirable

E2 | For an answer that makes some attempt at a judgement about| 2-3
whether globalisation is desirable

E1 | For an answer that gives an unsupported statement about whether 1
globalisation is desirable
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